DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

ENTRANCE TEST

W FOR
DR. AMBEDKAR COMPETITIVE EXAMINATION CENTRE,
YASHADA, PUNE
CONDUCTED BY

CENTRE FOR TALENT SEARCH & EXCELLENCE,
N. WADIA COLLEGE, PUNE

Time Allowed : Two Hours Maximum Marks : 150

o

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORNED OR MISSING PAGES OR
ITEMS, ETC. IF SO, REQUEST FOR ITS REPLACEMENT.

You have to enter your Roll Number on the Test Booklet
in the Box provided alongside. DO NOT write anything else
on the Test Booklet.

This Test Booklet contains 150 items (questions). Each item is printed both in English and Marathi. Each item
comprises four responses (answers). You will select the response which you want to mark on the Answer Sheet. In
case you feel that there is more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have to fill
in some particulars in the Answer Sheet as per instructions sent to you with your Admit Card.

After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, you
should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test
Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

i) There are four alternatives for the answer to every question. For each question for which a wrong answer has
been given by the candidate, one-third (0.33) of the marks assigned to that question will be deducted as
penalty.

ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question.
Final result of this examination will be declared between 22.11.2010 to 24.11.2010 on our website.
www.yashada.org/acec

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

I AT FRIST MR IT UAHATEAT SIae<dl UHTaR B 31R.




Question no. 1 : Jutland peninsula is located in between

1) Black sea and Caspian sea

2) Adriatic sea and Ligurian sea

3) Barent sea and White sea

4) North sea and Baltic sea
UeT H. 1 : SJCalS faUded DIVRAT I FAYSAT SRIM
AR ?

1) PIBT TS ST ST T

2) ifgAfesd aqs T forgRas s

3) e gz 3T UieT W

4) ITR W 3T qifecs A
Question no. 2 : In the figure below, if I || m || n then
m«£pP =7

I
552
1 0

m

n

U 5. 2 : Ao AP SR ||| m|[n TR msLP=?
1) 140° 2) 130° 3) 111° 4) 70°
Question no. 3 : Consider the following statements

I) Art. 123 empowers the President to promulgate
ordinances.

I1) He can promulgate ordinances only when both or
either of the Houses is not in a session.

Which of the above statement/s is/are correct ?
1) Only | 2)Only 1l
3) Both I and 11 4) Neither | nor Il
QA . 3 : Wletlel fAeia foar &1

I) B 123 R AFYCHT ICEFH DIGUATET ITABR uIT1a
CICIRCIES

) IFUh SRS AT PIoel fhar gl AR
SN TTe], T Bass ATAIR! ICEHH PIg BT
ITIHT BIurt /Y e /3 SRR 3118/ 3R ?

1) Baal  2)waFa Il 3) 38 4) I8 AT
Question no. 4 : Charaka, the most celebrated authority
on Ayurveda was the court physician of ......

1) Samudragupta 2) Chandragupta Il

3) Hala 4) Kanishka
UeT ®. 4 : MIASKIA TS WD & ..o 2 CINGI
TRIGY IS BN

1) WS 2) O AW 3) A 4) D
Question no. 5 : As per Tendulkar Committee, number
of BPL households in India stands at .....

1) 7crore 2)8crore 3)9crore 4)10crore

T 3. 5 : TSI ARNATAR TRAKNA SRS ETetiet
ORI AT ... 31T,

1) 7 ®E 2) 8 B

3) 9P 4) 10 BT

Question no. 6 : Which of the following statements is
incorrect regarding the Constituent Assembly of India ?
1) Constituent Assembly was constituted under
the scheme formulated by Wavel plan.
2) Constituent Assembly was partly elected and
partly nominated.
3) Constituent Assembly was constituted in Nov.
1946.
4) Mahatma Gandhi and M. A. Jinnah were not
the members of the Constituent Assembly.
T . 6 : TRATAT AR AT FletleTidh! HIvK

faer™ R AT ?
1) GfrgRNE TUET aiRd doMdid aRASFER
HROGTE AT Bl
2) wfgarayr & sied: fasurdear arA @R 3fera:
AHUHIER TATH ST,
3) Qe TRATIAT AicdaR 1946 T3 SN,
4) wereT et 3nfor @, UL ST @ A ae
Tegal.
Question no. 7 The main reason for alarming
population growth is .....
1) People get incentives / rewards for more
children.
2) Frequent changes in central government.

3) Reduction of death rate.
4) People refuse to do family planning.

U . 7 : AGHET [AThITRT T BRI 760N ...

1) IR ol SIS ali= WicTe / arRaye

firesa.

2) &g PRI BVR TRAR I&A

3) 9cg Id ue

4) Fgd RIS FRUg AT Rty
Question no. 8 : Which of the following is a correct
sequence of ports in India from North to South ?

1) Kadlore, Karikal, Kochin, Kolam

2) Karikal, Kolam, Kochin, Kadlore

3) Kochin, Kadlore, Kolam, Karikal

4) Kolam, Karikal, Kadlore, Kochin
99T 3. 8 : SRAT ISINDBGT SRUIDhS 3P HH Wlofledal
PIUIT ?

1) PSAR, BIRBe, BIGI, Bl

2) BIRPBA, P, A, FSAR

3) B, FSAR, DA™, BINBA

4) P, PIRBA, BSAR, B
Question no. 9 : Weight of an object reduces when it is
moved from .....

1) equator to poles.

2) poles to equator.

3) centre of earth to top of mount Everest.
4) centre of earth to surface of earth.




HeT . 9 : I IO I, ...... BAIeITT P! BN,

1) fagaqaragT games

2) g fagaqares

3) gdIeaT AEATIRIA TeaRve qddTear HIeaTahs
4) =T ALATIREA gedieaT g8HTIHS

Question no. 10 : Which of the following is not a part of
Panchayat Raj Institutions ?

1) Zilla Parishad
3) Gram Panchayat

2) Panchayat Samiti
4) Municipal Cc_nun_cil

U . 10 : Wellddd! BT UaId ST AR
qrE1?

1) Riegr uRug 2) g |afet

3) IMYETEd 4) TR yRug
Questionno. 11 : If 1: 0.2, then =?

5 0.005
;reﬂ;ﬁ.ﬁ:avlzo.z,a? L =?
5 0.005
1) 0.0002  2) 0.002 3) 200 4) 2000

Question no. 12 : Which of the following rights is
recognized as a legal right ?

1) Right to vote

2) Right to property

3) Right to freedom of religion

4) Right to constitutional remedies
QT . 12 : FTelAuD! DIV MBR &7 e ARHR
BV 3NBEAT ST ?

1) AaSHET JRBR - 2) AURIET ARPR

3) geara=TET PR 4) TeATHS SUTATET B R
Question no. 13 : Tarapore committee submitted its
report on full convertibility of Rupee in .....

1) capital account

2) current account

3) both in current and capital account

4) loan account

HeT . 13 : IRUR AR ... T ARl ST
quT gRRac RIcT RIBRIT SRIUTRT S18dTe A1eR el 3TTR.

1) visdel! @A 2) ITe] @

3) 9T g WiSdell ISl 4) ot @I
Question nos. 14 and 15 : In each of the following

number series one term is wrong, which has been given
as one of the alternatives. Find the same.

U P. 14 G 15 : Tl TAD T ifelpaed Th Ug
P 3712, S e Ui el amg, O e

14. 1,2, 5,11, 17, 26, 37
1) 37 2)5 3)11 4) 26

15. 216, 125, 65, 27, 8, 1
1) 65 2) 125 3)8 4) 27

Question no. 16 : Which of the following is a
mechanism instituted by Government of India to
promote infrastructure development ?

1) infrastructure gap funding.

2) viability gap funding.

3) finance gap funding.

4) technology gap funding.
T . 16 : TRA ADRA Wit BT JISTHT IR
g (infrastructure) RIBRIRIST 3moreft 38 ?

1) STPRCTFAR 9 BT 2) R 79 wiET

3) BRI U BRET  4) aTATSN 79 BRET
Question no. 17 : In which of the following instruments
the final image is inverted ?

a) telescope, b) microscope, ¢) binocular, d) periscope,
e) digital camera, f) optical camera

QT . 17 : TeilAUD! DIVAT SURU 3T YT IeAe
IR ?

a) Xeefd  b) gemeels c) gfr  d) uReefs

e) 3bI BRIfgAd ) Ul sRITfas®

Dab 2)a,b,d,f 3)a,f 4)a, b, f
Question no. 18 : Which of the following ocean
currents are not associated with North Atlantic ocean ?

1) Labrador 2) Gulf stream 3) Kamchataka

4) Benguela 5) Canaries 6) Kuroshio

U9 . 18 : Ticllcldd! PRI AFRI FaT8 IR Al
HETANRIST FEforT ATl ?

1) g 2) Toh YA 3) PHEECH  4) STl

5) Rl 6) T
1)4,6,3 2)1,6,5 3)3,2,4 4)4,2,5

Question no. 19 : According to the World Bank’s
measurement of poverty, which of the following
parameter is absent ?

1) participative citizenship

2) humiliation and indignity

3) health

4) human development
"o ®. 19 : SFID dbedl TRAAT AT Hidhad
GTei el PIoTdT Tedh g Id 18l ?

1) HABUFT ARTRG 2) AFESAT G SR

3) ARFY 4) 94T faer
Question no. 20 : Mendeleef’s system of classification
of elements became very important because —

1) it was the first attempt to classify elements.

2) he was the first person to propose law of
octaves.

3) he could predict existence of some unknown
elements and their properties.

4) none of these




HeT . 20 : Hoclhedl JoleediedT quiaunel e el
I HE T FATel, PR ...

1) JorscgioaT qUTRRUTET BT Uil Y 8.

2) IEFHET FrH ™ YU TS,

3) TS AT JerseareaT AfRTAEET g i

TorerIfaTad A HTE WIfhd 6 Ha.

4) TRNATH THE! ATE.
Question no. 21 : The Tabo monastery, which is among
the oldest in the world, isin .....

1) Himachal Pradesh ~ 2) Jammu and Kashmir

3) Sikkim 4) Arunachal Pradesh
¥eT . 21 : T4l & WK Fafd JAT deg HASTIDT
IRAAAT IS ... PRECIES

1) fETae uRer 2) T g IR
3) fafeww 4) 3BV TR

Question no. 22 Omar-al-Bashir, charged by
International criminal court, is presently heading ........
country.

1) Saudi Arabia 2) Nigeria 3) Libiya 4) Sudan
HeT . 22 : ATR-3IA-TMR, T AR TR HIcH

TRre hHfdetel TEwe, e ... ST & 377Rd.
1) G aRfd=m 2) ST
3) farfqam 4) &=

Question no. 23 : A person who travelled from Delhi to

peak K, which of the following Himalayan ranges

sequentially he must have travelled ?

1) Pirpanjal 2) Zaskar 3) Karakoram 4) Shiwalik

5) Ladakh

U 3. 23 : TERN FFi N Seetiaw &, RIEReps S

PIUTCAT YR FEHTRITRT I A 3MetiSTedT AATdlel ?

1) fORUSITET 2) SR 3) BRIDRA 4) Rl 5) S
1)3,1,5,2,4 2)4,2,3,1,5
3)4,1,2,5,3 4)1,5,4,3,2

Question no. 24 : The sky appears blue. This can be

explained by .......

1) Raman effect.
2) Zeeman effect.
3) Peroxide effect.
4) diffusion of atmospheric gases.
T . 24 : AHRRET J T Rl BT =7

HERA GeTrT Fell A,

1) Y9+ gRom 2) =9+ uRom

3) WRIFASs uRomM  4) araTaRoNde arga fasaRoT
Question nos. 25 and 26 : In each of the following
number series find the number at the question mark.

U H. 25 T 26 : WA UID ACIMEIIRID

TeTRIFETAT ST IO TT AT o 9T,
25. 2,5, 11, 17, 29, ?
1) 31 2) 37 3)41 4)51

26. 5,11, 19, 29, 2, 55
1)31 2) 37 3) 41 4) 51

Question no. 27 : Which of the following is the correct
chronological order of the battles fought in India in the
18" century ?
1) Battle of Wandiwash — Battle of Buxar — Battle
of Ambur — Battle of Plassey.
2) Battle of Ambur — Battle of Plassey — Battle of
Wandiwash — Battle of Buxar
3) Battle of Wandiwash — Battle of Plassey —
Battle of Ambur — Battle of Buxar
4) Battle of Ambur — Battle of Buxar — Battle of
Wandiwash — Battle of Plassey
99T . 27 : 18 T DIl HicledT AQHT DlcTlghH

ATIIRT Wet IeTteh! DI 9 TR 3R 7

1) KT TS - JFURE] deTg — ARl 1S -

TR oS
2) 3ARE! dASTg - TWIRIE] dSTg - IR dSTg -
TR SIS
3) TEIATerE g - Wi g - ARl deTg -
TFARA TS
4) 3! ASE - JFART! TSTg - AT FASTS —
R ders
Question no. 28 : Match the pairs.
A B
A) Indian Women’s 1) Saralabai Devi
Association Chaudharani
B) The Bharat Stri 2) Mukundrao Patil
Mandal

C) Self-respect movement |3) Mrs. Annie Besent
D) Bahujana Samaj 4) E. V. R. Naicker
U 5 . 28 : SIISAT AT

A B
A) 3T T SRARIUSE  |1) ARTETAT <t TTeRoft

B) 9Rd ! Fe% 2) g Ui
C) IHAHMIS Tbass |3) =T Iz7c

D) S8 I 4) $ B3R, TR
1)A-1, B-2 C-3, D-4
2)A-4, B-3, C-2, D-1
3)A-2, B-4, Cc-1, D-3
4)A-3, B-1, C-4, D-2

Question no. 29 : Magnetic storms occur on .....

1) Moon 2) space 3) Sun 4) Jupitar
9T % . 29 : IH ICS ...... IR/T Bl
1) ¥ 2) 3rg@rem  3) At 4) T®

Question no. 30 : If seventh day of a month is four days
earlier than Saturday, what day will it be on twentieth
day of the same month ?

1) Sunday 2) Monday

3) Friday 4) insufficient data
99T . 30 : SR Ul Hig=gril Al dRIg AFaR=aT el
IR g e, R @ Afeardt I IRRE Poer aRy
REC K

1) MER  2) AFAR  3) PHEAR 4) AT TR




Question no. 31 :
correctly matched ?
i) Schengen agreement — prohibition of nuclear trade
with non-NPT countries.
— abolition of border checks

Which of the following is/are

ii) Pelindaba accord

within EU.
1)ionly 2) ii only
3)iandii 4) neither i nor ii

U . 31 : Tl PV SISt/ Srear I 3R/ ?

i) 99 IR - non-NPT SeTTeRIeR 3TiUeeh ATIRTER
gfcree

ii) UferTereT ARR — EU erreamelier T died g
&E|

1) ®ad i 2) Badii 3)idrii 4) SEE AE
Question no. 32 : Which of the following states had
taken an initiative to introduce compulsory voting in
election of local governing bodies ?

1) Rajasthan 2) Gujarat

3) Madhya Pradesh 4) Maharashtra
U . 32 : Tlellaldd! DIV A FeITfe Fverier
FIerSurchieT A T HAGHTETad TR BT 8Ia ?

1) ISRAYM 2) [ORIT  3) ALAUR  4) TERIY
Question no. 33 : The use of caste in Indian politics is
common. Which of the following is the main reason
behind it ?

1) Indian society is caste based.

2) caste based organization and mobilization is

common.

3) caste based voting.

4) caste and religion based political parties exist.
T H. 33 : TRAN INHRUTT AT aoR IR 8

T THRT SR Gt Tede! PIuRT ?
1) YRR AHTSTIERRT STA3memid ag.
2) SR e -UhAPRoT FISAT 0 .
3) SirdftameTRe Fae™ 8.
4) Sreht, g smeTfRa ST gaT 3rEd.

Question no. 34 : Which of the following statements is
not fit in the following group ?
1) Bedounins are the mixture of Southwest
Asia and Meditarranean races.
2) Bushmens are basically hunter and
gatherers of fruits and nuts.
3) Kraal is a group of huts of Zulu people.
4) Khirghiz are the mixture of Mangolide
and Turkish tribes.
U9 3. 34 : Tl TCHE 7 SAUIR faers HioRy ?

1) TSI I & A< TR T e AR
CRICELE S

2) 9T AP AT RIBRT 3T e  Hae
ST RUTR 3.

3) P & P ABIAT FTSITET W L.

4) frfirer & Fmiferamt 3T gt ST frsyor R,

Question nos. 35 and 36 : In the following questions
number or letters are written according to some rule in a
similar pattern. Identify the rule and find the number /
letter that comes at the question mark ?

99T %. 35 T 36 : Wilel U dral MIHGAR
v/ AR farfeeft amga, at e aiexge meAfegrea Srft
PV T/ 3FeR et of e ?

35C%fg CEED"Qif’
© O,
1)E 2)D 3)J 4)B

1) 30 2) 25 3) 20 4) 10
Question no. 37 : Which of the following are proteins ?
a) Hair b) Adrenalin c¢) animal nails d) cholesterol

99T % . 37 : TIAedd! BIuTt oM ared ?
a) FT b) IR ) T d) PrereRrad
1) b, d 2)a,c 3)a, d 4) b, c
Question no. 38 : According to census of 2001 which of
the following states has a highest percentage of
scheduled caste population ?
1) Uttar Pradesh 2) Bihar 3) Maharashtra 4) Punjab
"o %. 38 : 2001 T SITUMTIR Wleiicidh! PHIu
RISIT SF]fRIT SAT Sl THT0 ST 318 2
1) SawiRe 2) gR 3) ABRIY  4) U9E
Question no. 39 : Which one of the following is not a
special feature for Jammu and Kashmir ?
1) Separate constitution for Jammu and
Kashmir.
2) Residuary power are with the state of Jammu
and Kashmir
3) National emergency declared on the ground
of internal disturbance will have an effect in
state  without councurrence of state
government.

4) Right to property is a fundamental right.
99T . 39 : TSI DI TH § =, MM FH1efR o

frery ey A1rEt 2

1) T BIHRATS! Tad IsadeT

2) IR 3R & T FTHR IATAT 0T 3Tl
3.

3) Sicfa 3reriaa=ar MMYRTER NG FRUATT 3MTetelt
AT @t § T I WRERST
HEAIRIAR AR] BT A o,

4) Huita RPN T ST e AIBTR MR,




Question no. 40 : How many pairs of alphabets are
there in the word PRISON which have as many letters
between them as in english alphabets ?

U9 & . 40 : PRISON IT ST TeaTel JooteiRieaT Jfer foheft
STISRIT 3T &7 SIFEY qaET FeR TR Sl SIS JIeR
H1fethd 3 ?

1)4 2)3 3)2 4)5
Question no. 41 : Who amongst the following is
associated with the US PGA tour event, 2010 ?

1) Roger Federer 2) Jeev Milkha Singh

3) Arjun Atwal 4) Sebastin Vettal
"ed %. 41 : Trelledal dT US PGA tour, 2010 off
HfI 31g ?

1) IR FSR 2) Siicg frear T

3) 3T sreare 4) wafe ®ga
Question no. 42 and 43 : In a mixed cipher the letters
are coded with numbers, however their sequence is not
the same. Study the code language and answer the
questions that follow.

T . 42 T 43 : TP (Y Ablie TG NeRNS! 3id

IR IR, U7 el 9 TRGT A8l T Fichlad W=l

3NYRT T I IR Seiedt TR I .

Words/ as€ | Codes / S
NOW 912
WHO 297
OHM 679

42. What could be the code for the word HEN ?
42. HEN T 9IsaTaT ¥chdl PRI 317 At ?

1) 817 2) 217 3) 792 4) 167
43. How will be the word WHOM be coded in that
language ?
43. 7 TNd WHOM &7 9IS Fidhd BT 3Rl ?

1) 2719 2) 7269 3) 7169 4) 9621

Question no. 44 : Since 1931, Indian government did

not conduct a caste based census because .....

a) Difficulty in categorization.

b) Caste would then become an important embedded
identity.

¢) State gives more importance to class rather than caste.

d) Caste would reduce status of religion in census.
l)aandc 2)bandd 3)aandb 4)candd

W . 44 : RS SAASFRFT 1931 FoR STeielt AL

c)mwgﬂ?maﬁ&mmﬁwﬁ%ﬁ
d) ST SO g T S Bige.
1) asmfdrc 2)bamford 3)asamrb 4)camfird

Question no. 45 : Who is Secretary - General of

Amnesty International ?
1) Ram Baran Yadav
3) Vim Kochhar

2) Salil Shetty
4) S. C. Sinha

U9 B . 45 : T ST eI DI I ?
1) M §=A I1I5d 2) Hefter A
3) i PR 4) v¥, 3. R

Question no. 46 : What is the correct cronological order
in the discovery of sub-atomic particles ?

1) electron — proton — neutron

2) proton — electron — neutron

3) electron — neutron — proton

4) neutron — protron — electron
U & . 46 : SUSNMVAD HUNIT METAT BIAIDH AT DHH
PO ?

1) gerae - e - gt

2) Wi - goae - =g

3) gelae - =g - WeH

4) g - W - Felag
Question no. 47 : Three views of a dice are shown
below. Which letter is on the opposite face of E ?

A E C

c | e ¥ |8 |F

U9 % . 47 : TSI BT o Ryl aeieryTor 3R, o E
TSN fIRees TBHFTER BIVI 3HeR 3RS ?

1)B 2)D 3)C 4)F
Question no. 48 : The advantage of using a pressure
cooker is ......

1) the pressure is increased

2) the food is cooked at higher temperature

3) the natural vitamins are preserved

4) less fuel is required
U9 % . 48 : YR P ATRUIT HIIST ... T 3T,

1) I9 1A

2) 3 A dIYHTRN f3roTaer St

3) "fifer Shamai e g

4) T 34T @I,

Question nos. 49 and 50 : In each question below are
given two statements followed by four conclusions a, b,
¢ and d. Consider both the given statements to be true
even if these seem to be at variance from commonly

known facts. Decide which conclusions logically follow
from the given statements.

"o % . 49 d 50 : Weild UAP WA I fagm R
3RIT R a, b, ¢ 3T d 3RY IR fosaef et amea. o™t
foa™ FdTgRTT AT 3RAeledT aRaaue TR ared
I AR Tt TR IR I . feiedn faeiaRe
PRt frsay ATfagseat dredr Adier o 3T,




49. Statements : I) All roads are green.
I1) All green are elephants.
Conclusions : a) Some green are roads.
b) Some elephants are roads.
c) Some roads are not elephants.
d) All elephants are green.
1) All follows 2) only a and d follows
3) only aand b follows 4) None follows

49. T : 1) 9 =1 fexa a1med. 1) e &= gt 3.
foeeef : @) FTET foRT TR ARA. b) PIET B! K 3T,
C) IS T &l AR, d) T gt 2R e,
1) |4 forsad et 2) Tad a T d o
3) Bad a T b o 4) P! T ATE

50. Statements : 1) All dogs are cows.
I1) Some cows are monkeys.
Conclusions : a) All monkeys are cows
b) All monkeys are dogs
c) Some dogs are monkeys
d) No dog is a monkey
1) None follows 2) only a and b follows
3) only d follows 4) All follows
50. faem : 1) 9 g TR amed.  11) FTET TR A 37TRd.
sy ;@) 9 ATehs TRIY eTTRd. b) T A1 oA 3MTed.
C) PR A HAHS AT, d) PIUET AT AHS TR,
1) PIVRIE! T AT 2) wad a 3T b e
3) wad d oTF 4) |d o
Question no. 51 : Which of the following provisions are
not amended by simple majority of Parliament ?
1) Abolition and creation of Legislative Councils
in states.
2) Directive principles of state policy.
3) Use of official language.
4) Quorum in the Parliament.
U9 & . 51 : Tcilclid! PIUAT cRae | TSIl Phd
SATET TG Jae BRAT AT AR ?
1) rara fae afkwg fmfor #xor fbar < w01,
2) AT YRV ARfgef® aw
3) BRI Y=t SUART
4) W TURRET
Question no. 52 : Which of the following institutions is
not provided by the Constitution of India ?
1) Panchayat Raj
2) National Commission for Scheduled Caste
3) State Election Commission
4) Political Parties
T & . 52 : TS cId! DIVT Uil FeT Seerd TR
ARG TR ?
1) EREA IS 2) SR ARG IET IR
3) I fasu AT 4) ST U&T

Question no. 53 : Which of the following statements is
incorrect regarding Reservation Policy ?
1) It is important to provide reservation based on
caste.
2) Reservation should be based on intra-caste.
3) Caste based reservation creates problems for
social integration.
4) Reservation is the first step towards caste
annhiliation.
HeT % . 53 : 3RV JoMieHd Fleleltdl P e

Y IR ?
1) SITdaR 3eRa 3RETUT AU TEwAr IR,
2) IR&TUT AT 3fcrfar 3mearRa 3.
3) SATRIYIRG IREUT AHIS THIRATATS THRIT
femfor #a.

4) SIAfer{eTaTSET amRemT § ufgelt uRRY 3R,
Question no. 54 : PSI, an initiative led by USA aims at

1) economic sanctions on Iran.

2) nuclear non-proliferation.

3) non-conventional energy research.

4) unearthing black money stashed in Swiss
banks.

e % . 54 : PSI A1 3MRemfia Aomer ST .
1) SRR ffd ufeaey.
2) 3nfoee FHR AT,
3) IURYTR® FHotf HeneH.
4) R e BTt U= 2Meror,

Question no. 55 : Consider following statements —

a) Cobalt-60 is naturally occuring radioactive element.
b) Cobalt-60 is used for chemotherapy operations.

¢) Cobalt, occuring naturally, is harmless to living

beings.
Which of the above is / are not true ?
Dab 2)b, c 3)a, c 4)only c

U9 . 55 : Wletlel (AL R .

a) PETec-60 T FRFIT SMERUR RUTIRY Jelsed 37TR.

b) BleTee-60 & IMRFG Ffdheiid aToe S,

¢) R 3ME®UR PieTec g Aoila UTUHEFT STgusd]
3.

TITIRT pIvrd /Y e /= @/ T/ ?

Dab 2)b, c 3)a,c
Question no. 56 : Match the following.

4) Had ¢

Region Traditional method of
water harvesting
1) Western Rajasthan A) Kuhl
2) Meghalaya B) Tanka

3) Western Himalayas  |C) Bamboo channels

H1-A, 2-B 3-C
2)1-B, 2-C 3-A
3)1-B, 2-A 3-C
H1-A, 2-C 3-B



HeT . 56 : SIS o,

T URURITT el HaeH gead
1) ufegH o™ A) P8
2) JETe B) Ear
3) ufeyH ferrerd C) Fig=aT ool
1D1-A, 2-B 3-C
2)1-B, 2-C 3-A
3)1-B, 2-A 3-C
49H1-A,  2-C 3-B

Question no. 57 : Match the following persons of Indian
origin holding positions of Head of State / Government
with their countries.

Person Country
1) Bharat Jagdeo A) Singapore
2) Aneerood Jagnauth  |B) Mauritius
3) S. R Nathan C) Trinidad and Tobago
4) Kamla-Prasad- D) Guyana
Bissessar

W % . 57 : R JAT IAGHHE T T I el s
.

et Ia
1) ¥R SFea A) QR
2) JFHES T B) HiRerd
3) T, IR, AT C) AferE @ e
4) FHAT-TIG- AR D) T
H1-A, 2-C, 3-D, 4-B
2)1-A, 2-D, 3-B, 4-C
3)1-D, 2-A, 3-C, 4-B
4)1-D, 2-B, 3-A 4-C

Question no. 58 : If the axis of the earth was vertical
and earth had been flat, which of the following
statements are correct ?

1) All the places on its surface would have the same
temperature.

2) There would be no seasons on the earth.

3) The temperature during the day at a place on the
earth would be the same throught the year.

1)land?2 2)1land3
3)2and3 4) all the above
UeT . 58 : SR YT 3 8 IHT 3R 3107 ol |qure
At TR WeIeTdehT g faem iowft 2
1) GeATed] YIRS T4 f3eToft JTom ARET fder
3.
2) geteR i Th ATl T
3) gediR Ul f3PIR g R doH ¥R AR
RIESECRRE
1) 1 3mfor 2
3) 2 arfor 3

2) 1 3nfor 3
4) e ad

Question nos. 59 and 60 : By which of the following
rules, all the elements in each question, form a group ?
1) Multiply the number by seven and add three to
the product.
2) Multiply the square of a number by three.
3) Multily a number by two and half.
4) Subtract three from a cube of a number.
¥eT % . 59 d 60 : Tlellelda! DIl FREGAR Tid
YT d T Ueh T TR BReIN ?
1) AT A1 A IO YUIT=AT I[OIHRIT i .
2) =T ) fyvue .
3) V&) IrSIAUT FRI.
4) AT OAGA S a9 PRI
59. 122,5, 24,61, 213
60. 24,52,80,10
Question no. 61 : Consider the following statements -
1) Jotiba Phule founded the Sarvajanik Sabha.
2) Jotiba Phule believed that education of the masses
would promote the process of nation making.
3) Jotiba Phule moved in the trade union movements.
4) Narayan Meghaji Lokhande, a trade union activist,
was a prominent colleague of Jotiba.
Which of these are correct ?
1)1,2,3and 4 2)2,3and 4
3)1,2and 4 4)1land?2
U & . 61 : Wiailel (AL R a1 -
1) STV Tet T+t AT D T ForTet,
2) SIS Tet et 3reft e gt it At nfder
TEoTAT RreTe 9% e,
3) ST Tet TTaT BIFTR TRac I TETRT EXel.
4) IRV HETSH TGS & PR TSI =l SN

TG WEBRT BN,

ITHHT BIURH g™ FRIeR 377 ?
1) 1,2, 3 3nfor 4 2) 2, 3 3nfor 4
3) 1, 2 3nfor 4 4) 1 3mfor 2

Question no. 62 : Consider the following statements —
1)Robert Clive was the first Governor General of Bengal
2)William Bentinck was the first Governor General of
India.
Which of the statement/s given above is / are incorrect ?
1)only 1 2) only 2
3) Both 1 and 2 4) Neither 1 nor 2
U & . 62 : Wiailel (G R a1 -
1) e TR BT ST UfFAT Teg=R SR Bl
2) o™ 9fds 81 IRAmT Ufdel Teg=R SiHRet 81T,
et gD ghra faem / faem o /<t 2
1) Bad 1 2) Bad 2 3) 19 2 -G8 4) B8 A
Question no. 63 : How many of the following represent
different states of matter ?
Solid, liquid, gas, ion, radical, plasma,
bose-einstein condensate.
1)3 2)4 3)5 4) 6




UeT %. 63 : Tlcilcd! fadl gerfear dver R
geffaard »
G-I Res AU,

1)3 2) 4 3)5 4) 6
Question no. 64 : Which of the following ridges
changes into Telegraph plateau ?

1) Dolfin Ridge 2) Challenger Ridge

3) Galapagos Ridge 4) Cocos Ridge

U9 . 64 : TIcilclh! PIUT I fTTH USRI HUTART
B ?

1) STfRpT I 2) FeloR T

3) TTETIRIRT J7T 4) BIBRT T

Question no. 65 : The five fundamental principles
(Panchasheel) for the tribal upliftment were presented
for the first time by .....

1) Verrier Elwin 2) N. K. Bose

3) Thakkar Bappa 4) Jawaharlal Nehru
U9 B. 65 : Ulgedial ISR fAdrRTeiar G ura

T (vafer) oft Fifiaet gt ?

1) IR3R T 2) UH. &. 9

3) 3FHX qIeUT 4) SATERATA AE®
Question no. 66 : The measures of internal angles of a
hexagon are x + 5, 2x — 150, 2x + 10, x — 5, 150 — x and
X + 20. Then the value of x = ?
U H. 66 : TPl SCHHRAT IRPHRT AU X + 5,

2x — 150, 2x + 10, x - 5, 150—x34Tf&rx+203ﬂ%H,a'\’x
77 fohaa foelt smia 2

1) 115° 2) 120° 3) 105° 4) 125°
Question no. 67 : The greatest bio-diversity is found in
the ...... region.

1) Telangana plateau  2) Purvanchal

3) Great Indian desert  3) Chota Nagpur plateau
U . 67 : Al SafIfALIT SSHUIRT TS ... I

1) AN USR 2) yafaer

3) YRAN AgATHAT 4) BITT AFYR U8R
Question no. 68 : Which one of the following pairs is
not correctly matched ?

1) Pitt’s India Act : Warren Hastings

2) Dotrine of Lapse : Dalhousie

3) Vernacular Press Act : Curzon

4) llbert Bill : Ripon
He . 68 : TIAIID! DIV AIST AT AT ?

1) Hear YRafvg® et : IR RS

2) GTeNIT HIR0T : STERAY

3) guua R et @ wef

4) gaac i : R
Question nos. 69 and 70 : Each question given below
has a problem and two statements | and I, both of which
give some information. Decide whether information

given in those statements is sufficient for solving the
problems.

Indicate the answer as —
1) If the data in statement | alone are sufficient to
answer the question.
2) If the data in statement Il alone are sufficient
to answer the question.
3) If the data in statements | and Il are needed to
answer the question.
4) If the data in both the statements together are
not sufficient to answer the question.
U . 69 T 70 : Wiellel Ucdd U Ueb FHT 4 | 30T

Il Rgm fRetefl amed Sa1 aela @rel Hifedt et 3.
faemma faolelt wifed w9 Arefivar geeft o &1 o
3.

IR FICAATHIT AT,

1) SR Bad fag™ | 9 aifeh o sfivar
Reft amR.

2) SR wad g 11 e mifEh s asfivams
Reft amR.

3) SR fau™ 1 g 11 a1 A8 fremrha anfEdt wran
AT 3Ma9as® 3.

4) SR 1 9 11 a1 S fyamrchier iy Arfedt a9
Arsfavar gReft R

69. Problem : What is Ajay’s rank in the class ?
Statements : I) There are 56 students in the class.

I1) There are 10 students who have scored

more than Ajay.
69. IFT : AT ISTTAT FHHID DIV ?
fem : 1) afaed) 56 faemeff amed.
1) S8 =T SrorIvel SR TUT 37Ted.

70. Problem : How is M related to Y ?
Statements : 1) Y is sister of M

I1) S is mother of M and .
70. FHRIT : M T Y ¢ft BT AT R ?

fam 1) Y & M <t afzor ame.
1) S & M 3T Y ot o1 3rme.

Question no. 71 : Maximum number of branches of
Regional Rural Banks are in .......

1) Karnataka 2) Bihar

3) Uttar Pradesh 4) West Bengal

U . 71 : ... T IS TS AT SpicaT Fdid
ST 9TRET 37T,

1) Ffed  2) ER 3) SIRWRY  4) ufews ama
Question no. 72 : Which of the following do not come
under the objectives of Shahu-Phule-Ambedkar Dalit
Vasti development programme ?

1) To improve the living conditions of those in

Dalit areas.

2) To impart vocational training to youths of these

slums.

3) To end social inequalities.

4) To enhance integration and fraternity.




T . 72 : AMG-Tel—3ATGSIR SIITaRI [T g FEROT

FIFEE) B 3w T ?
1) gferd ST AP ISUIH IO,
2) fera ST gaaiT ATawTrye HfTaor Jor.
3) MRS frswdT 8 HRoY,
4) TTHAT T §YWTd e BT,
Question no. 73 : Match the following
Country Research Station
1) Austrelia A) George Faster
2) Newzeland B) Vernadusky
3) Germany C) Mawson
4) Ukrin D) Lester Scott
U . 73 : I SIS T,
S e v
1) arfeeferm A) SITSf BRER
2) gfsreie B) & igeeh!
3) ST C) araA
4) g D) foRex wpic
11-B, 2-D, 3-C, 4-A
2)1-C, 2-D, 3-A 4-B
3)1-A, 2-C, 3-B, 4-D
41-C, 2-D, 3-A, 4-B
Question no. 74 : Which of the following is/are

correctly matched ?

Nuclear power complex

Participating country

i) Jaitapur France
i) Haripur Russia
Donlyi 2) only ii
3)iandii 4) neither i nor ii
U . 74 : Tlellaie U TSt/ Ssar TR MR /T ?
3nfoga Sotf s et a1
i) ST LR
i) 8RR NERI
1) ®ad i 2) B ii
3)idii 4) i 372 ii IR TS

Question no. 75

Backward classes and

the

marginalized sections have not been able to fully benefit
from various government schemes and policies because -

a) the growing insensitivity of the administration and of
society.

b) growing excessive individualism and consumerism.

¢) growing casteism and related political interference.

d) growing curruption.

l)aandb 2)aandc

3)aandd

4) All of the above

9o ®. 75 : AN d dfud ARG TSRS 3
TRGR! TISHT IR IQISA AT HeT YeASeTd MM HROT —

R NI BN IE AL INIRI S KGN IRGRECE NI RN
q) gredT SR Faciars, TIAE
%) gTedT SdiaTe a et e Iorh awaey

$) dredl YERIR
1) FenfoT g 2) 31 AT &+
3)wamfors 4) e |d

Question no. 76 : The rural economy has changed into
due to technology and economic development.

1) deficit economy 2) govrnment economy

3) profitability economy 4) none of these

WeT . 76 : TASHIET T ST el T amges
TFIOT Sreferaverd HURK ....... 319 arefereaeld el 3TR.

1) IS 3referawen 2) WRPRI IfaeAq
3) dTYEr® Jfcaaver  4) TeTidl THEl AT

Question no. 77 : Omkareshwar dam is located in which
of the following states ?

1) Madhya Pradesh 2) Chattisgarh

3) Bihar 4) Jharkhand
U9 . 77 : SNBRER ERUI B Wellelidh! DIUAT AT

AMR?

1) 9 Ry 2) BRRFre 3) flER 4) sIRdEs
Question no. 78 : Match the pairs.
Tribe Place
A) Bhil 1) Raigad
B) Gond 2) Gadchiroli
C) Katkari 3) Dhule
D) Oraon 4) Chandrapur
99T 8. 78 : SIS ol
=T ST f&Tor
A) Bt 1) TS
B) M 2) TeferIett
C) Praaxt 3) 9
D) 3iRM 4) TSR
1)A-4, B-3, C-2, D-1
2)A-3, B-4, C-1, D-2
3)A-1, B-2, C-3, D-4
4)A-2, B-1, C-4 D-3

Question no. 79 : Which of the following snakes is
considered the most poisonous shake in the world ?
1) King cobra 2) cotton mouth black mamba
3) Coral snake 4) russell’s viper
e . 79 : TS IcTID! BV AT SR et Fafa sy

HHSTAT ST ?
1) AR (BT BiET)

2) PIYRIT BIBT FaT
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3) yarerd

4) 9URT



Question no. 80 : Which of the following components
are not mentioned as objectives for Right to Food
campaign ?

1) Guarantee of food for all

2) Means of ensuring food.

3) Food for work.

4) Free distribution of food to the poor.

HeT . 80 : TRl FIFDIAIG Glelladd! PV I T

e ?
1) st @ Aol et 2) @ Pevarard .
3) AT AleeedTd @Rl 4) TG QeI At d1ey.

Question no. 81 : Which of the following rivers has a
Yazoo stream ?

1) Nile 2) Mississippi
3) Ganga 4) Amezon

U . 81 : TTellelidh! PIUAT TSN TS YaT8 3Med ?
1) aga 2) ARRAR 3)Tm 4) smww

Question no. 82 : Match the following

1) Women are the entry |A) Baburao Bagul
point of caste

2) Mee Jevha Jat Chorli

3) Majhe Vidyapeeth

B) Narayan Surve

C) Dr. Babasaheb
Ambedkar

D) Kishor Shantabai Kale

4) Kolhatyache por
U9 . 82 : INY SISl Il

1) ST &1 AR TOeeR - |A) SERE aFA

3T,
2) =T SieeT I aRe! B) TR g
3) Are femdis C) . IETITRT ATISTR
4) PlegTcaTd IR D) fheTR eriamaTs H1ed
1)1-C, 2-A, 3-B, 4-D
2)1-A, 2-B, 3-C, 4-D
3)1-B, 2-D, 3-A, 4-C
4H1-D, 2-C 3-B, 4-A

Question no. 83 : When an object is sold at Rs. 800,
there was 20 % loss. By how much Rs. the cost should
be increased so that there would be 10 % profit ?

U9 . 83 : TP a%<) 800 %. T [Aeed™ &1, 20 AT ST,
TR A 10 R LIS AT A fFAa et HoRaT
FTeardt AN ?

1) 1100/-  2) 300/- 3) 1200/- 4) 350/-
Question no. 84 : What is the correct chronological
order in which the following appeared in India ?

1) Gold coins 2) Punch-marked silver coins

3) Iron plough 4) urban culture

U9 . 84 : WIoilol S18] YRAI dhegl AT T o

HIATDHH T —

1) gl Af 2) 3MTed KT Aol

3) ARG AR 4) & ShaA
1)3,4,1,2 2)3,4,2,1
3)4,3,1,2 4)4,3,2,1
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Question no. 85 : World Expo. 2010 has been organised
in which of the following chinese city ?

1) Beijing 2) Macau 3) Shanghai 4) Hongkong
9o . 85 : World Expo. 2010 T-mefid Wrefiertidht

PO &R AT BedT TS ?
1) A1 2) 9wres 3) e 4) EFT
Question no. 86 : Match the pairs.
Column | Column 11
A) Blue vitriol 1) Sodium hydroxide
B) Gypsom salt 2) Calcium sulphate
C) Baking salt 3) Acetic acid
D) Caustic soda 4) Copper sulphate
E) Vinegar 5) Sodium bicarbonate
U9 . 86 : SIS AT,
T - 1 T -2
A) &g fegdiatiet 1) AT TglaRS
B) RiwaH Hlee 2) BiRIH Fethe
C) TTUITT ST 3) 3rfea 3t
D) ®ifecs ST 4) HIR FehHe
E) fee R 5) ST 91T HIEFCT
1)A-4, B-2, C-5 D-1, E-3
2)A-4, B-5 C-2, D-1, E-3
3)A-5 B-4, C-3, D-2, E-1
4)A-4, B-2, C-5 D-3 E-1
Question no. 87 : Which of the following statements is
correct ?

1) Hindi is the national language of India.

2) Hindi is the official language of India.

3) Hindi is both national and official language of
India.

4) None of the above

99T . 87 : TTAeId! BV LT RIS AT ?
1) &Y & YRarRN gy IR,
2) &) & YRarE Braferi ¥ 3R,
3) f& & yRar P T FrRITERIT 9T 3R,
4) FRAAAB! BIUTAET TS
Question no. 88 : Which are the prime problems of the
tribals in India ?
A) The dispossession of means of livelihood.
B) State sponsored violence.
C) Hliteracy and superstition.
D) Displacement
1) Aand B 2)Cand D
3)Dand B 4)AandC
99 3. 88 : JATARIIAT TR AT BIUAT 3MTee ?

) SUSIIHATSIRAT WG Ie d) ISIYRED AR

&) FRERaT 3for sfgsieaT 3) fawerme
1) renfor g 2) &1 S
3)saforg 4) 373 &



Question no. 89 : Rate of a chemical reaction depends
on which of the following components ?
a) concentration of reactants b) temperature
c) particle size of reactants d) catalysts
e) density of reactants  f) molecular weight of reactants

1ab,c 2)adef 3)ab,c,d 4)acdf
U ®. 89 : I GTeflcAidh! DI TeHiar
NI AN P 37) IFATHRBIA HEA ) T
&) IITHhIATBRD T HUIT 3TTHR g) SARD
3) AFYRHIPRATT T %) ATHBATHRET R
1) A9,d 2)3HE,3H 3)3IHTHS 4)AqDSH
Question no. 90 : Which of the following arrangement
of countries is correct from north to south ?

1) Poland, Denmark, Hungary, Romania

2) Denmark Hungary, Romania, Poland

3) Poland, Romania, Hungary, Denmark

4) Denmark, Poland, Hungary, Romania
UeT %. 90 : Tlolld I IINBGT SAUIDS DIV HH

T 3T ?

1) Uiis, S¥Th, ERY, ST

2) SHTH, ENY, AT, dids

3) dicis, HHIET, R, S=ITh

4) SHTH, Uieis, FRY, ST
Question no. 91 : NOAA is associated with

1) Army 2) Navy

3) climate science 4) biotechnology

79T . 91 : NOAA T oft Jefera omme.
1) TspR  2) AIfAP g 3) SAFFLARA
Question no. 92 : Match the following

4) Sig gFE

Sufi Silsila Founder
1) Chisti A) Badruddin Samarkandi
2) Qadri B) Mohiuddin Qudr Jilani
3) Surhawardi  |C) Khwaja Moinuddin Chisti
4) Nagshabandi |D) Bahauddin Zakariya
E) Khwaja Bahauddin
Nagshabandi
U9 . 92 : INT SIS ATdl.
gl Ryetfa HEAUD
1) farecht A) IgEIF FERDA]
2) P B) FERIN Brfex Riett
3) gEEw C) T Jge i faecht
4) FFIE D) SERSe M SHhIRAT
S ECINIERSHRIECIES
1)1-A, 2-B, 3-C, 4-D
2)1-C, 2-B, 3-D, 4-E
3)1-E, 2-D, 3-C, 4-B
4)1-C, 2-D, 3-A, 4-E

Question no. 93 : Predator and Reaper are
1) light combat aircraft.
2) under water survelleince systems.
3) unarmed aerial vehicles.
4) surface-to-air missiles.

"9 . 93 : fiigey anfor R 7
1) |ATEE BIFC TIREPIYC
2) 3fs¥aiceR afcda—w Rifeeas
3) s ARk Rgmew
4) SR gad AT PRUIR SYUIRA

Question no. 94 : Match the correct pairs.

U9 . 94 : INY SireT Tl

1) National Institute of A) Kochi / @it
Ocean Technology
2) National Centre for B) Hyderabad /
Antartic and Ocean Research ENEL
3) Indian National Centre C) Goa / Mt
for Ocean and
Information Services
4) Centre for Marine D) Chennai /
Living Resources and EE
Ecology.
1)1-A, 2-B, 3-C, 4-D
2)1-D, 2-B, 3-C, 4-A
3)1-A, 2-C, 3-B, 4-D
4)1-D, 2-C, 3-B, 4 -

Question no. 95 : Why has a finance literacy become a
serious issue for R.B.1. ?
1) more and more people would utilize the
banking services.
2) banks can do more business.
3) helps to know R.B.I. policies.
4) better understanding of capital market.

e . 95 : Rerd dobearr guM faiar ATeRaT & TR T &
STeT 315 ?

1) ¥ AqTET ARG TR AND AT Tiel.

2) ST SR ITHR T BT,

3) Rerd T 9RO FHSUAITS) WERA BIg.

4) YiSae ISR TR T Ssel.
Question no. 96 : Name the element that is not a means

of direct democracy ?

1) Referendum 2) Initiative by people

3) Recall 4) Compulsory voting
e H. 96 : WIAIAUD! BT TSH & UL ABIATEY

RIEEINIISEIERISIE

1) ArdHd

2) AHTET YITHR

3) fraffira we=aTe WRa @A IRBR

4) AFAR FAH
Question no. 97 : Who was not a member of the State
Re-organisation Committee formed in 1953 ?

1) H. N. Kunzru 2) Fazal Ali

3) Sardar Patel 4) K. M. Panicker
99T . 97 : 1953 =T Y JeHT Afld

Te&d.
1) @I @1, D
3) WER U

2) WIoTd 3Tt
4) &. U, quufiex
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Question no. 98 : The state of Kerala is most
progressive in terms of social justice and social equity.
The reason for this is .......
1) high literacy rate
2) participatory democracy.
3) proper implementation of government policies
4) decentralization of power
UL . 98 : IR 7 YT AMIND =R ARG T

Question no. 99 : Match the pairs.
Column | Column 11
A) Act of 1909 |1) Act for good government of
India
2) separation of provincial budget
from central budget
C) Act of 1858 |3) legalise communalism
D) Act of 1919 |4) establishment of federal court
U . 99 : SIS G IR TR e,
Tc-1 c -2
A) 1909 TT HRIST |1) YRS ARTAT ATTTIaTLAT
DIAST
2) bl FeRFHATTT Ui
arefAdey IS FRUITT 3Tt
C) 1858 T HIIST (3) SHIATRTAT BIASR et e,
D) 1919 AT BRIST |4) G ~TATAITAT FATIT FROAT 3Tet!
1)A-1, B-2, C-3 D-4
2)A-2, B-1, C-4, D-3
3)A-4, B-3, C-2, D-1
4)A-3, B-4, C-1, D-2
Question no. 100 : Which of the following factors is
causing increase in prices on the side of supply ?
1) Inadequate agricultural production.
2) Black money.

3) Growth of population.
4) Government expenditure.

B) Act of 1935

B) 1935 9T ®I¥Ial

U . 100 : YRASATRT T fh9d dic HWIRT OcH
BN ..

1) QR et IeureA 2) P1eT U1

3) AHEET 1S 4) WP T

Question no. 101 : Consider the following statements -

I) National Commission for Human Rights is a statutory
body established by promulgation of Human Rights
act of 1993.

I1) It has ex-officio members including the chairmen of
National Commission of Minorities, SCs, STs and
women.

Which of the above statement/s is/are true ?

1) only | 2)only 1l
3) both I and 11 4) neither I nor 11
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999 . 101 : Tlctlel faerraT =R &,

1) TR A B STRINT, SfY U dentfeies = armg, <t
1993 =T AT 8eFeh DRIEITAT JHTSSIGUINTST #1101
et at,

1) ST UGRIEE ASRITHE TeUviedid SR,
ST ST, I SHTT ST AT SRR
JAETEIAT FHAY ITe.

I PV fae /= SRR 318/ 3 ?

1)%waal  2)waa Il 3) AR 4) K ATE
Question no. 102 : The idea of responsible government
was introduced in the provinces by .....

1) the GOI Act, 1919

2) the GOI Act 1935

3) Indian Councils Act 1909

4) Indian Councils Act, 1892
U9 . 102 : Wifd TORIaR SR IRt Hed=T

1) YRT AHRAT 1919 2) YR AGRAT 1935
3) YR fadiHseraT 1909 4) YR fdiHsesmET 1892

Question no. 103 : Asia’s first Export Processing Zone
was set up at ......

1) Kandala 2) Mumbai 3) Tutikorin 4) Haldia
U9 . 103 : 3T Feflet ufdalr Export Processing Zone

IS SR Tl ?

1) diear  2) qa3 3) geherA 4) sfeean
Question no. 104 : P, Q, R, S, T and U are standing in a
circle. Q is standing between U and R; P is standing
between S and T. S is standing to the right of U. Who is
oppositeto T ?
¥eT . 104 : P, Q, R, S, T 3f0T U § &1 agasrd I
ARd. Q ¥ U 3nfir R Ii=ar 58 S aed; P8 Samfor T
I wEl I 3Ted. S g U IJieaT Iadiehs I 3MTe.

T =T AR BI0T SR ?

R 2)Q 3)U 4)S
Question no. 105 : Which of the following decides
minimum support prices on behalf of the government ?

1) Ministry of Commerce

2) Planning Commission

3) Ministry of Agriculture

4) Agriculture Cost and Price Commission

U . 105 : WGIUD! DIV FAT ARPRAT A
frm e fbma Fifeaa v ?

1) arforsa waTe 2) RS M

3) P FAT 4) P T T A ST
Question no. 106 : Which of the following are effective
ways of eradication of harmful social practices ?
a) Reservation to socially backward classes.
b) social awareness
c) reformative laws and its effective implementation

d) anti-religious behaviour
l)aandb 2)bandc

3)candd 4)aandc



Hed . 106 : THNIHTS Yl Mo awuarear gEq
GTATATS BIoRT AT 31f¥res TRUTHERS SReflet ?
37) AMTRThGSSAT HITRY GURATST 3IR&T0T
) MRS STTReDhT
&) GURUMAIE] BRI 3T il aIROMHBRS SfFeTsTIauil
3) gHfaRIe g+

1) aranfoT g 2) g Mo &

3) dafirs 4) 31 T &

Question no. 107 : Niwano peace prize of 2010 was
bestowed on
1) Ela Bhatt 2) Medha Patkar

3) Aruna Roy 4) Mandakini Amte
°eT . 107 : ‘Famr it TR 2010 7
et e,

1) gt 9 2) RYT YIeHR

3) 3rAUT R0 4) HEIfpY e
Question no. 108 : Consider the following statements -
1) Lokayukta deals with grievances against public

/ government officials.
I1) Institution of Lokayukta exists in 14 states in India.
Which of the above statement/s is/are correct ?

1) I only 2) Il only

3) Both I and 11 4) neither I nor 11
U9 . 108 : Wiellel [y R .

1) SBIRERT & AT / APR] SDRITIGEE THR ST
BRI .

2) ARAT 14 IASATT ATBIRIT 81 FEAT JTRFETT 3ATE.

eYeT faeItdT Pivr /< e /= sRIsR 3R/ 31 ?

1) ®Bad 1 2) Bad 2

3) 19238 4) GG A
Question no. 109 : What do you understand by the term
“DONER” ?
1) a NGO working in the field of poverty
allievation.
2) separate ministry for North Eastern State’s
development.
3) an agency of International financial aid.
4) subsidiary of IMF
U9 . 109 : ‘DONER’ IT AT 3MUUI BRI HHI ?

1) s1fe Forfee faTa BRf HROTRY sremdhiT AT,
2) SARBSIA ISATAT BRI FATYT HRUATT
3ol IS W,

3) AR fo=ig ATITS I T J=0T.
4) AR AT 3ifha wwer.

Question no. 110 : H. D. F. C. is the shortform of ......
1) Housing Development Funding Agency
2) Housing Development Funding Corporation

3) Housing Development Finance Company
4) Housing development Finance Corporation

T

14

99 s%. 110 : H.D.F.C.®
1) IRFT ScgcTudic BiET Tormdt
2) IR Scgeade BiET BuReH
3) IR ScgeTue BRIATT FHUe
4) BIRFT ScgTHe BRFTE BN
Question no. 111 : Which of the following is the ‘World
Health Day’ ?
1) 7" April 2) 17" April
3) 21% April 4) 22" April
999 . 111 : Tefiadd! PO o & “SFfiid IR
31" =8 ST@atT STl ?

1) 7ol 2) 17 of¥r@ 3) 21 Ui 4) 22 Wi
Question no. 112 : Examine the following statements.
A) Even though law is a weapon for women’s

emancipation, yet through law their status remains

lower than men.
B) Article 39(a) of the constitution states that both men
and women should receive equal wages for the same

labour.
Which of the above statement/s is/are correct ?
1only A 2)only B

3) both A and B 4) both A and B are incorrect
A . 112 : Tt [FGMTeR oA8f &,

31) PrIal 81 ORIl HeH AUl Ueh A1 3RIeAT o=l

YT TR T gEred Jad e few.
q) ARy wem 39 (a) S M gwusEdar JqH

ST, T e SOATRY AT .
TS P/ e /q SRR Mg /T ?

1) Had 31 2) Bad §

3) 31 3T 9 ST 4) 31 37T 9 S4B
Question no. 113 : If the income tax rate is increasing
along with national income then it is termed as ......

1) progressive tax 2) proportionate tax
3) regressive tax 4) indirect tax

e . 113 : TENT ST JRNERISR SR ATHBRIT &%

aed IR K ... 3R TRV,
1) wrasha &= 2) THFHTOT B
3) 3TN A 4) VT PR

Question no. 114 : Which of the following river basin
was never under the sea ?
1) Ganga
3) Sabarmati

o o

qeT B. 114 : Fieileid!
JoETe! Fegd ?

1) T 2) fayg 3) AR 4) METaRt
Question no. 115 : The renowned brothers Umakant and
Ramakant Gundecha are

1) katthak dancers
3) Tabla players

2) Indus
4) Godavari
PIUAT TS @R HEE TR

2) dhrupad vocalist
4) sarod players



UeT . 115 : SHIHIA DI Jodl & Qi g
GIRAES 3T,
1) HAF AP 2) ¢US MAF 3) TIAT ISE 4) RIS ISH
Question no. 116 : In nuclear explosion test enrgy
liberated is measured in kT of
1) mass destroyed 2) gun powder
3) TNT 4) nitro cellulose
U ®. 116 : 3MUIDh ThICRYT AEUITed I Ioff

=7 kT 7 Hiordr.

1) G & 2) dgdiaT IRE

3) St 4) AR Aegerrs
Question no. 117 : ‘Verghese Kourian’ is associated
with ......... revolution.

1) Blue 2) Green  3) Silver  4) White
U H. 117 : ‘T PRIT Qlellerde! ... Dichelt Fafera
3Ted.

NRA  2)sRa  3) T 4) ¥ /gEd

Question no. 118 : The recommendation of causes
a weak bank to amalgamate itself with the properly
functioning bank.
1) Central government 2) Reserve Bank of India
3) State government 4) Finance minister

UeT . 118 : FAPIA b AYTI Fobel fAfATHROT
........... IieaT RIARAER 8.
1) g WHR 2) fRerd & e fean
3) I AR 4) foa ==t
Question no. 119 : Match the following.
Column i Column lI
A) Cornwallis  |1) Changed the company’s
servants from merchants into
administration
B) Wellesley 2) Proclaimed the imperial
principle of political supremacy.
C) Bentinck 3) Initiated new policies in the
spheres of finance, justice and
education
D) Dalhousie  |4) consolidated the scattered
territories
" . 119 : ST JoodT.
c -1 c -2
A) HiaiieN 1) PO AT SATARIThgT
TSRS .
B) deRett 2) AR AT
Fd S@TT ST de.
C) afic®d 3) amfefes, =am g fareroT I
A RO GReaTd e,
D) SeTaRft 4) faRgRIT & HES o
1)A-1, B-2, C-3, D-4
2)A-2, B-1, C-4, D-3
3)A-3, B-4 C-2, D-1
4)A-3, B-1, C-4, D-2
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Question no. 120 : Under the constitutional provision

for child rights, which of
place in it ?

1) Right to Expression
3) Right to R_ecreation

the following does not find a

2) Right to Nutrition
4) Right to Family

U9 B . 120 : ARYFHT ITeTeddprar Ieqid Wieiierid!

PIUAT AT AL AT ?
1) frcga WA &§FF  2) NP INER &FD
3) TR 896 4) PEI ISNATATAT TID

Question no. 121 : During the time of which mughal
emperor did the English East India Company establish

its first factory in India ?

1) Akbar 2) Jahangir 3) Shahjahan 4) Aurangzeb

Uq &, 121

: DIl HHlel JHUICTIT dlodld gfcer ‘:ﬁ-?:

SISTT HUHTT UfedT Theres! RIS TS Hict! ?

1) 31HaIR
Question no. 122 : The
‘Jogawa’ was directed by .

1) Rajiv Patil

3) Sanjay Surkar

2) SR

3) IEEM 4) 3o

national award winning film

2) Amol Palekar
4) Madhur Bhandarkar

U . 122 : TNET &1 IEY UGN Ao femder

fergefa ... g B
1) N ardter 2) MY grAdR
3) WO PR 4) IR HISRIPR
Question no. 123 : Match the pairs.
1) Shadow Report A) 2001

2) In the direction of
Equality

B) 1999- Fundamental
Right to Education
(Public Report)

3) National policy for
women empowerment

C) India’s first document
(report) to integrate
women’s problems
related to equal status.

4) Khairlanji : A strange
and bitter crop

D) Anand Teltumbde

ueF P. 123 : Y TSI ATl

1) ufcrergarer (erEIRUE) |A) 2001

2) AT 3 B) 1999 =T e Jeryd
R (AT
37gdTeT)

3) IR Al FEHIHROT |C) RATI S (ST oftd

ROT FAAe® g aiRguf
i 1RO FRUTRT Gfgett
eI

4) TR : 31 Tgof 31+ |D) 3G dAdeaS

e P

1)1-A, 2-B, 3-C, 4-D

2)1-C, 2-D, 3-A, 4-B

3)1-B, 2-C, 3-A, 4-D

4)1-D, 2-A, 3-C, 4-B



Question no. 124 : Who amongst the following had
enjoyed maximum tenure as the Chief Justice of India ?
1) Justice R. Kochhar  2) Justice N. Chapalgaonkar
3) Justice V. Palashikar  4) Justice Y. Chandrachud
U H. 124 : TAGUS PN Faed TR
AR UG Al TR BIBATST Jufdel ?

1) =1, AR, PR 2) =T, T, AYSTaBY

3) =1, &), yfiax 4) =1, 9. TGS
Question no. 125 : The Gandhi - Irwin Pact was ratified

by the Indian National congress at its ....... session
1) Karachi 2) Nagpur
3) Lahore 4) Wardha

"ed . 125 : Tl i IRR & Rl W A
........ CIRCEEIRREINGEEICI

1) @A 2) IR 3) ABR 4) guf
Question no. 126 : Who among the following has never
been chairman of Finance Commission of India ?

1) A. M. Khusro 2) B. B. Tandon

3) Y. B. Chavan 4) N. K. P. Salve
U . 126 : Tleflcdd! HIUE et facqi mawmn
DHeftEl redel Tegd! ?

1) T. T g&r 2) . 4. S

3) am. . Fcgrr 4) v4. &. 0. AT
Question no. 127 : Indus Water Treaty, 1960 awards
India rights over three rivers. Which of the following is
not among those three rivers ?

1) Ravi 2) Satlaj  3) Beas 4) Chenab
U9 . 127 : g Uit SRR, 1960, YRAM TH TeraNiel
EFP <. WlelleTdd! HIvT Tt THT AT ?

1) &t 2) Adea 3) dNT 4) oA
Question no. 128 : National Book Trust (India) is an
autonomus body under the ministry of .......

1) Culture

2) Home

3) Human Resource and Development

4) Higher Education
T . 128 : IS §D gXe (YRHE) &
FATCATAT SEIRI Il T T 3778,

1) SRt 2) T
3) 99q \uTeA 3T fqer 4) I fasmor
Question no. 129 : Match the following pairs.
Medieval Meanings
terms
1) Igta

A) Land measurement

2) Zakat  |B) Land donated to religious institution
3) Wagf  |C) Tax for muslims
4) Masahat |D) Transferable revenue assignment
E) Type of donation
H1-D, 2-C, 3-B, 4-A
2)1-D, 2-A, 3-B, 4-E
31-C, 2-A 3-E, 4-B
4)1-C, 2-B, 3-E, 4-A
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9T . 129 : AT ST JoodT.

Heg AhedHT aref
1) ga< A) SR ATt
2) STeTd B) &NfH{eh HweRT T dhetel! SFA
3) gah C) gfeemRISIT #x
4) qATEd D EGIRUIREES G RSN
E) ST YR
1)1-D, 2-C, 3-B, 4-A
2)1-D, 2-A 3-B, 4-E
3)1-C, 2-A 3-E, 4-B
fH1-C, 2-B, 3-E, 4-
Question no. 130 : Corporation tax is the income source

of .......
1) State Government
3) Union Territories

2) Central Government
4) Local Self Government

T FH . 130 : R T ... PIERR EICESI PRSI

1) ST ARBR 2) g WRBR

3) o enfa TR 4) TP TaRTST el
Question no. 131 : Best way to prevent rusting of iron is
coating .......
1) with zinc 2) with magnesium

3) with paint  4) first with zinc and then with paint
UeT . 131 : ANGST ToT0l AT I U

1) ST IATEAROT 00

2) HHf3T3rTa 3raRuT 0

3) [ Ao

4) H SRAT ATARVT I T TR T ATGor
Question no. 132 Reserve Bank of India was
nationalised in the year
e . 132 : R dov TR Rfawor

1)1949  2)1950  3)1969  4) 1980
Question no. 133 : Which of the following statements
regarding gender budgeting are true ?

A) Participation of more women in budgeting and
planning process.

B) To integrate women’s problems within budgetary
process.

C) To give importance to women’s labour in budget.

D) To give importance to only the organized women’s
labour in the budget.

1)A B 2)B,C 3)A,B,C 4)AC,D
HeT . 133 : Wil HIvrdt g™ gender budgeting
=1 AeHld A AT ?

) refepey Treull g TS Ui ST e Ae4r
ST,

) APy TIR HRUIRAT Ufhdd oI UeT AT

ZCRH

%) o= ST SrefiaedTd Fed S,

S) had HHfcd &I RERITeIT ST R &
arefieed TR T,

1)d,9 2)3, @

3)3A,9,F 4)3, B, S



Question no. 134 : Central government has share

in R. R. B.’s capital.

U . 134 : URRIP AMU dHical JieadMed &g
WRGHRAT TR ... TS,
1)50% 2)75%  3)25%  4)100 %

Question no. 135 : Consider the following statements -

1) Members of either house of Parliament are entitled to
receive such salaries and allowances as may be
determined by the President.

I1) There is a provision of pension in the Constitution for
Members of Parliament.

Which of the above statement/s is/are correct ?
1) only | 2)only 11
3) both I and 11 4) neither I nor 11
9T . 135 : Wlellel AL f[daR F.

) FESTT DIVATE TS T AguchiaR e
FROITT 3ATeier I AT SR 1 e,

1) FH=a AR FaiidaTl TRag JRe - AfdeTd

3R,

YT pIvrd /Y e /= e 3R /d ?
1)wadal  2)wad Il 3) IS 4) & TR
Question no. 136 : Match the following pairs.
A B

1) Shahu Maharaj  |A) Servents of India society
2) Karmaveer B) Financial support to social

Bhaurao Patil reforms
3) G. K. Gokhale C) Shatpatre
4) Lokhitwadi D) Earn and learn scheme
U . 136 : I SIISAT JoodT.

HEIH HehedTT aref
1) 9T HERWST A) TRT HIDH FANT
2) FHIR WIS UIEIel (B) AHTND TododT 3
BIGEEY

3) TS HIT Mgt |C) o

4) ApEaarst D) HaT 3T 31T AT
1)1-A, 2-B, 3-C, 4-D
2)1-C, 2-A 3-D, 4-B
3)1-B, 2-D, 3-A, 4-C
4H1-D, 2-C, 3-B, 4-A

Question no. 137 : Modernisation in the words of

industrialists is .......
1) to increase production capacity with the help of
modern technology.
2) adoption of adult franchise.
3) to do nationalisation of industries.
4) to do privatisation of industries.
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997 %.137 : TN 2T AATGAR AT FDHIHROT =gt
1) MY TATTEAT HERAT SIS &7 TefIor.
2) vite AATeRET TR
3) SETH TEE
4) ST QISHIHROT
Question no. 138 : Which sector/s has been affected the
most in India by globalisation process ?
A) movement of labourer B) Trade and finance
C) Knowledge D) Technology
)AandB 2)AandC 3)BandD 4)CandD
U2 . 138 : SMRISIGRUTAT Hfpdges HRAT Glellerda]

PO fARTIER ST 9RO 1t ?
31) AP BHNST Blefalel ) IR 70T 31ef
&) & S)IGEEI]

1) JremfoT g 2) 31 MM 3

3)gamfirs 4) H TS
Question no. 139 : Match the following pairs.

Inscription States
1) Allahabad A) Karnataka

2) Aihole
3) Naneghat
4) Hathigumpha

B) Maharashtra

C) Orissa

D) Uttar Pradesh
E) Madhya Pradesh
U9 . 139 : AT ST eodl.

[EGIEEE] I
N IEEIH A) FAfch
2) VB B) TERTY
3) ATUTETe C) anf=ar
4) gTfTw D) STRuRY
E) Fegweer
1)1-D, 2-A, 3-B, 4-C
2)1-E, 2-B, 3-A, 4-C
3)1-D, 2-E, 3-A, 4-B
4)1-D, 2-B, 3-C, 4-A

Question no. 140 : Which of the following pairs are
correctly matched ?

1) Mrichchakatika — Shudraka

2) Buddhacharita — Vasubandhu

3) Mudrarakshasa — Vishakhadatt

4) Harshacharita — Banabhatta

1)1,2,3and 4 2)1,3and 4
3)1land4 4)2and 3
U $.140 : Tl PRI FASAT RER  Jodl
3T ?
1) Jeodicd - Iab 2) geEENG - ageY,
3) gaRIeNT - faermared 4) ¥IRA - uUMvee
1) 1,2,3 3mfor 4 2) 1, 3 37foT 4
3) 1 3mfor 4 4) 2 3rfor 3



Question no. 141 : Which of the following is an odd
man ?
1) balance 2) pliers 3) p_ulley 4) screw driver

9T . 141 : TIcllcTdd! DI RT3 ?

1) WY, 2) TGHS 3) FW 4) U HH(Tp FIEN)
Question no. 142 : Which strategy is useful to cure
unfavourable balance of trade ?

1) Decrease in import and increase in export.

2) Only increase in export.

3) Only increase in import.

4) Only decrease in export.

HeT . 142 : URIGel ATURIY G PRUIRITS! DIV EIROT

SO TS ?
1) ImaTa HHY BRor 3nfor frafa arefor.
2) wag fFrrafdmed are o,
3) %ad IATHITEY aIe HIOL,
4) wad frafa w4 w=or,

Question no. 143 : Which of the projection is suitable
for the demarking of the ocean routes ?
1) Conical projection with one standard parallel
2) Cylindrical equidistant projection
3) Zenithal polar Gnomonic projection
4) Mercator’s projection

" . 143 : AT AW vt wrefiertdh Howan
TEIUTTET FehTel AT 81 ?

1) U% YHI0T AHICR AHUETT 2) IS FHIIAR T
3) T-TIYdR T FHTUT 4) TdheIa HaAqUT

Question no. 144 : The provision for uniform Civil
Code for the citizens is provided in the constitution of

India under article
U9 B. 144 : TRAN ISTICHT AFNTNGASIAT FHH ARRT

1) 44 2) 43 3) 42 4) 45
Question no. 145 : ETA, Basque is related to

1) Sweedan 2) Spain 3) Norway 4) Denmark
U9 $.145 : ECNY, IR ¢ ... off Fafrd omme.

1) & ed 2) @ 3) A7 4) STH
Question no. 146 : Which of the following states in
India has the lowest birth rate ?

1) Kerala 2) Arunachal Pradesh

3) Mizoram 4) Tamil Nadu
U 3.146 : TTAIAUD! DIUAT YRAT ISTTT Fafd T

T R 3R ?
1) IS 2) IAUTE U_eT  3) fsiRm  4) aifeTg
Question no. 147 : Consider the following statements -
a) biofuels are more environment friendly.
b) biofuels are more economic in use.
c) biofuels are more friendly to the automobile engines
than fossil fuels.
Which of the above is / are true ?
l)aandb 2)only b
3)bandc 4) none of these
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U9 $.147 : Tielldl g =R .

31) Sifad o 31 Ug TR SRAAT.

) Sifde o= TR0 TR PIEHANIT IR,

&) S Sem, STaredsemern, Sagdafera argT arfed
fEaemR® 3.

NI Pivrd /Y e /= /8 /T ?
1) Jranfor g 2) Bad g
3) g amfr & 4) I ATE

Question no. 148 : Motion of impeachment proceeding

against the Hon. Judges of the Supreme Court is putforth

firstin
1) Lok Sabha 2) Rajya Sabha
3) Either House of Parliament 4) Law Ministry

U $.148 : Jdiod ~JRCRRAT  ~gRTRIeifaeee
TETRRINT HfehraT )19 & Ufeeial ... HiSvdTd Jal.

1) AT 2) oI

3) ATl PIUIATE AUFE  4) BRIGT AT

Question no. 149 : Which one of the following revolts
was made famous by Bankim Chandra Chatterjee
through his novel Anand Math ?

1) Bhil uprising

2) Rangpur and Dinapur uprising

3) Bishnupur and Birbhum rebellion

4) Sanyasi rebellion
99T .149 : SfbHTs TSl IT IFSHS AT BIGaRHYT
GTelteTteh! PV IoTaTeT URied fHrell 3mg ?

1) fieet Se@

2) TR 1T SR Sa1a

3) faergR 3nfor fievm ds

4) F=1eT ¥
Question no. 150 : Consider the following statements :
A) Republic : Head of state is always directly or
indirectly elected by the people.
B) Secular : Some religions in our country have
preferential treatment and support from government.
Which of these statement/s is/ are incorrect ?

1) B only 2) A only

3) both A and B 4) neither A nor B
99T . 150 : Tlatlel g R &,

37) ORI : ISATdT T &1 e 1 Heret e sToeaemoy
APIGR IS STa.

) erffeRUE ; MU AT FTET T ARFER
eI T aNTOeh faft ST,

TS Iy /<t e /7 g /T ?
1) Bad § 2) Bad 3
3) 3T g 4) 37 3MfOT 9 R ATE

PAPER ENDS HERE
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SR FaTen Hiffidel ST A8 AIRia 8T HeTg Jug, ol

ST, sTidee vuf often e, gerer, o S
o AT \— 4
ST oM WA EdT dg, I, fSAT AIferne™, qor
i RN Petedt
AT URIET
d% : F aN 3iférepad IUT : 150
Chll

. e G ATCAMR ohred gl HeRiaTd H1el UM dIRY fdT wieeielt smed &1 fhar STt a far gew Tt
HTel TR T § AUTIL. T IRIAT G TR ANGoN I Fe-w €.

. et felear diaiTa g uaT i forer.
1 AfIRed a1 GeTAER Drel forg .
. T FLTHAT THUT 150 VT Med. Ydd e SIS M ARISt 7ed BIueiall 3R, Wedd e-Tell IR uaiy feter
M. THDHT SR U wafay g 6 S greTel SIRuEdaR Aleara 8. SR JreTell THaT 3ifid vy sRieR
e IR TR T JreTell ACURT Faid TN i FigdT. HIUATE! HeTNIS! $haes Gd udig Fael.
. TR gAY Uai dved feledn SRy HideaRd Aigdrid 3ied.
. Fd TS WA 07 37Te,
. IIRUBdGR vafy Aefuargd! greren SaRuficer ffers mifgdt s o, & J1fed) greren felean yaer afdar
3R,
. Td 9T uaty Aiegd Ul SR ST aXte uedmoR JreTell Tdadhice Wad SHRU®T ST 378, &
TR © SITUART JraTell URaTi 31Te.
. od B PRUIRITST T YT dac! ral S faoft amme.
. eI ITRTPRICT S8 :
TITS HETURGALY gahra IR AU TRamelT 38 dhel e,
) TS U IR ugidt Sw et aed. wienefF Relear gie ghiean SIS <1 Tl SNeied
U O et o1 (0.33) &€ TV Hivel S iel.
i) SR otEmef T geTRITST Ui SR SR Alefdell dR ST eIl TETe SUR aRIeR 3RIA aRlal o SR
IhH ATl TR IS ARSI S8 el STeel.
i) SR TR 4o IR ASfIetd ATl aR ST TeARIS! BIUTE! S Pl SR TeY.
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Note : English version of the instructions is printed on the front cover of this Booklet.
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